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Full Marks : 100
Pass Marks : 30
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The figures in the margin indicate full marks for the questions
ALLOTMENT OF MARKS

PART—A / Rel—=

Q. No. 1{a—f) carries 1 mark each : 1x6= 6
Q. No. 2( a—f ) carries 2 marks each : 2x6 =12
Q. Nos. 3-7 carry 4 marks each : 4x5 =20
Q. Nos. 8 & 9 carry 6 marks each : 6x2 =12
Total = 50
PART—B / Reio—y
Q. No. 10( a—f ) carries 1 mark each : Ix6= 6
Q. No. 11( a—f ) carries 2 marks each : 2x6 = 12
Q. Nos. 12-16 carry 4 marks each . 4x5 =20
Q. Nos. 17 & 18 carry 6 marks each : 6x2 =12
Total = 50
Total (PART—A & PART—B) : 50+50=100
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PART—A
Ael—s

( Introductory Microeconomics )

1. Answer the following &S directed : 1x6=6

FaRReafy foe S 9T 1S :

(a) Define the term ‘scarcity.

‘RO A TG |

(b) Opportunity cost is also known as cost.
(Fill in the blank)

NS IRISIEC I I (AT IR
(PR =& %)

(c) What is budget line?
AqACED (@Y 12

(d) Define variable cost,

AT A 5w WS |

(e) TC= ___ +TFC,
(Fill in the blank)

(XFT-I 1 9)

() Why is the AC curve U’ shaped?
AC @M v ‘U SFReT 27 9
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2. Answer the following questions : 2x6=12

Feva el Teg we

(a) Distinguish between microeconomics and macro-
economics. 2

IRIM @32 SR SRR e N @9 |
Or / &1

What are the central problems of an economy?

G3fo WIS FT APTeRH F H2

(b) Write two determinants of individual demand. 2
JfEere vifEm R g Somem @1 |
Or / 9«1

What is inferior good? Give one example. 1+1=2

8 T 17 o THR WS |

(c) Define the following :
TafeResRR s ne
(i) Total product

TS S
(i1) Marginal product
2fe Beeme

1+1=2

Or / 9331

Briefly explain the concepts of short run and long run.

1+1=2
I G2 WFTEA—2 qIReT 767 TRy e e |

/126A [ Contd.



(4)

(d) Distinguish between fixed cost and variable cost. 2
«, S SIS

g Q) @qe ARRGAIeT AT T 2Ny fofy o7 |

Or / qqr

Draw a long-run marginal cost curve and long-run average
+ 1=
cost curve. 1+1=2

1 R oS I [ 3R TR o 7 e o] 91

(e) What is the relationship between AR and MR? 2
TS R R eNfEF S T o6 F 2

Or / 93y

Prove that for a firm, price = average revenue.

T Y @ (A G ARSRITH (Fe@, T = 57 oy |

() Write two factors that affect the market supply of a
commodity.

aﬁwwmmﬁmmtﬁﬁw (519 |

Or / =1

If the percentage change in quantity supplied is 10 and
percentage change in price is 4, calculate price elasticity of
supply.

vﬁaﬁmﬁawﬂﬁa@c;wm R QIR R[S 10
RS

SR, O QN 7 o Rfy 79 |
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3. Explain the law of diminishing marginal utility with the
help of schedule and diagram. 4

il 3R T R TP e Tecaifaret i <o =
Or / 941

Define price elasticity of demand. Mention any three
factors influencing price -elasticity of demand of a
commodity. 1+3=4
SR T e e we | @9l wIR bifEEE T fEfezrieee
ereie T @ (@I foai Towm Teay 949 |

4. What is meant by returns to a factor? State the three
phases of the law of variable proportions. 1+3=4
43T T 2form TS B @2 ReEE e {9 e
TCEY 9 |

Or / 941

From the data given below, calculate (@) marginal cost and
(b) average cost : 2+2=4
I 2we oefe TR (o) AT TV G933 (b) 5TC I A1 9

Output 1(2]3]lalsl6|7]8
T8
Total cost (¥) |[10|20)|28|34|38|42|48 |56
16 7 (51P1) :
5. Mention four features of perfect competition. 4
o4ef eifecafrene arerca SR (e SrEs 34 |
Or / B2

Distinguish between monopoly market and monopolistic
market.

eofBa A @Az IR ARSCIPINES qrecad Mo #fiefe ey 4 |
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6. Distinguish between price ceiling and price floor. 4
. Distinguis :

waa o S @ A A 0 N0 fefy
Or / 531

Mention the effects of the following on the supply of a

' 2+2=4
commodity :
(a) Fall in the price of factors
(b) Rise in the per unit tax
<3 TR e Tom MRS SER aor Soay 7 -
(@) TAMHSHER T 2P

(b) oS 977 T 9 I

7. How does imposition of per unit tax affect supply curve of

4
a firm?
AT T R 791 A 1 LSBT @A @YIF FreT 281k 37 2

Or / 9231

The demand and supply functions of a firm under
perfectly competitive market are given below :

D=5-2pP

S =-25+3P

Where, P=Price, D= Quantity = Demanded and
S = Quantity Supplied,

Find the equilibrium price and quantity. 2+2=4

P dfeafrenee e gof ARBIR SIRW 99 Q@ o S
RET 4H0T -

D=5-2p
S=-25+3p

CHIE, P =7, D =13 wifey R S =T @ |
IR T 93 ARt foefyy 4|
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8. What is consumer equilibrium? Explain the conditions of
consumer equilibrium with the help of schedule and
diagram. 1+5=6
TETER SRPIS F17 @I wEE (@ OSSR SRl el
oS T =W, Pt 8 Bram e e 39 |

Or / 924l
Discuss how the market demand curve is derived from
individual demand curves. 6
TS SR (G A= A& SR @9 Frend 2T P A, S
Rl

9. “Under perfect competition, industry is price maker and

firm is the price taker.” Explain. 6

“of efSraforER Ay Soae T W e gk 2fevE =@ W
AR 17 AT T

Or / %41

With the help of a suitable diagram, explain the process of
determination of equilibrium price of commodity under
perfectly competitive market.

e focan e o AfecfrenEe e @9t G SR T
e e < 9 1

PART—B

et—v

( Statistics for Economics )

10. Answer the following as directed : 1x6=6
FrfRoefn Rommam Ted e

(@) Who is known as the father of statistics?
“{feprepe e ProFnel FIE W1 I 2
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(b) What do you mean by Wholesale price index?

off2If 7 SR TS A (TN 2
(c) Write one merit of direct personal investigation.
oror oS ST @ R @Y |
(d) Which of the following is a measure of central
tendency?
TR @l @R 2ol ARNICR @i o 9
(i) Arithmetic mean
SNffes o
(i) Median
YT
(iii) Mode
EEGAS
(iv) All of the above
TofC S

(Choose the correct option)
(wa R ez we)

(e)

is the difference between the largest value and
the smallest valuye.

(Fill in the blank)
TS T ¢ N o Wk
(TR K6l =)
() What is Lorenz curve?

ARG @Y 2
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11. Answer the following questions : 2x6=12
A el Ted me

(@) Define the term ‘statistics’ in plural and singular
sense. 2

I GR G B AR fwm’ -9 S TS |

Or / 9<[l
Write two importances of statistics in economics.

i e R 5 gy @9 |

(b) Write two characteristics of statistics. 2
offe R e 1t CafEy o1y |
Or / 341

Mention any two limitations of statistics.

AR R @ (lean 76 Sl Tea 9 |

(c) Calculate range and coefficient of range from the
following data : 2

og SR (AE PN G2 2PICET BeNES SI9] 9
8, 12, 18, 22, 13, 20
Or / €1

Write two demerits of range.

2PICaR {6 St o1 |

(d) Mention two merits of median. 2
TR i R @9
Or / 541

Write the formula of calculating median in continuous
frequency distribution.

wfifoen MRSl ReTaea (FTa S S @b (@Y |
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(e) State two demerits of standard deviation. 2

s v b S o T
Or / SI%41

Mention four alternative methods for calculation of
standard deviation in discrete series.

WW{WWWWWﬂWWWW

TCEY 9 |
(f) What is scatter diagram? Write one merit of scatter
diagram. 1+1=2
ey g ~rfs 7 93 @0 A @9 |
Or / S1

What is arithmetic line graph? Mention one of its uses.

1+1=2
A AR @14 2 @7 @ I92R TCEY 9 |
12. Write four main parts of a good table. 4
a5 Sred SIferl BRIG 24 SR (oY |
Or / S=41
Define sampling errors. Mention its main types. 1+3=4

zifonEe @fb KT 718 | ¢ I AT (774 |

13. What is diagrammatic presentation? How is it useful in
economic analysis? 1+3=4

far SorgrF 2 wltafes Ry «oft Forna T ?
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15.

16.

(11

Or / 541

Draw a histogram and polygon from the following table :
2+2=4

Teos SRS (e woTe ook Tags o 9 -

Marks obtained |10-20]20-30[30-40|40-50|50-60(60-70

MICRES]
No. of students | 10 12 16

RIG-RIGIF 30T

20 18 9

Define arithmetic mean. Discuss its properties. 1+3=4

NS SITTH 718 WIS | G CAMBresE) Seam 39 |
Or / 3241

Calculate quartile deviation from the following table :

A SR (T TPHF ROeTc i S1el <591 -

X 1 2 3 4 S 6 7
Y [ 30 | 38 | 50|22 |40 |25 | 60

4

What is dispersion? Discuss the characteristics of a good
measure of dispersion. 1+3=4
et e 1 2 o R sifaeer gt scemsn <9 |

 or/ W

Distinguish between absolute and relative measure of

dispersion. 4
RTFACR RN Wl G SCAFS R T4 =Ny @Y |

What are essentials of a good measure of central

tendency?

S (R 29Tl ARNeR Areeiei i §i o
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Or / 341

jon. Discuss its main types. 1+3=4

Define correlat
ARG A 9 |

ST T W8 | 47 2

17. What do you mean by primary data? Explain the different

methods of collecting primary data. 1+5=6
Afie w3 S P 9 @2 Afie e weces Rfen mfes

SICEAT 9 |
Or / 91

Define classification. Describe briefly its main objectives.
1+5=6

RS 5@ e | 99 Y3 SrreTSlel FCwCe I 99 |

18. Explain the meaning and importance of index numbers.
2+4=6

o5 AR Y R GFR R T A |
Or / &{1

Calculate the mean, median and mode from the following
frequency distribution : 2+2+2=6

Sieva TR R (ACF AT o, Fl ¢35 I e 9

Class
interval |20-25/25-30/30-35|35-40|40-45|45-50|50-55|55-60

19 1T | |
Frequency | 7 9 11 | 28 | 30 | 22 7 ‘ 5

RESSIER

* Kk
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